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SHRI KRISHNA ACADEMY

NEET,JEE & BOARD EXAM(10*,+1,+2) COACHING CENTRE
SBM SCHOOL CAMPUS, TRICHY MAIN ROAD,NAMAKKAL

CELL: 99655 31727 , 94432 31727

FIRST MIDTERM EXAMINATION, JULY - 2049-2020

SSLC - MATHEMATICS - ANSWERKEY

MARKS: 50
SECTION -1 (Marks 10)
Choose the correct answers: 10 x 1 =10
Q. No. Option Answer
1 3 3
2 3 2mn _1
2
3 3 el
4 4 quadratic
5 3 into function
6 3 3
7 3 5
5
8 4 F, =11 F, =18
9 1 0
1
10 2 >7
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SECTION-1I [MARKS:10]
I. Answer 5 Questions.
I1. Question No : 18 is compulsory 5x2=10
I11. Select any 4 questions from the first 7 questions.
A={34} 1
11 2 Marks
B={-20,3} 1
Domain = {0,1,2,3,45} 1
12 |Range = {3456,7,8} 1 | 2Marks
(i) Arrow Diagram :
f
(ii) Table Form : 1
13 Y 3 4 : 2 Marks
f(x) 2 2 3 4
(iii) Graph :
(.
:‘ e (54 1
- -'V‘:iﬁ: . T IR
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fof(k)=4k—3=5 1 )
2 Marks
14 k=2 1
Letaand b (a > b) be two any positive integers. 1
15 | Then, there exist unique integers ¢ and r such that 2 Marks
a=bgq+r, 0<r<b 1
t, =216 1
16 | t; =648 2 Marks
t, =1944 1
Required Geometric Progression is
17 742,252, oo 2 | 2Marks
n 1
- n(n+1) (on) 332(32+1)
18 | i3 2 1 | 2 Marks
3+6+9+.....+96 =1584
(or)
10* =(10?) =5? (mod19) 1
18 2 Marks
X=6 1
SECTION - 11l [ MARKS :20]
I. Answer 4 Questions.
I1. Question No : 24 is compulsory. 4x5=20

I11. Select any 3 questions from the first 5 questions.
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BUC =1{2,3,5) 1
Ax(BuwC)={(0,2),(0,3)(0,5),(1,2),(13),(1,5)} 1 5 Marks
1 | AxB={(0,2),@2)} 1
AxC ={(0,3)(0,5),(1,3),(1,5)} 1
(AxB)uU(AxC)={(0,2),(0,3)(0,5),(1,2),(1,3),(1,5)} <1
(fog)(x)=4x° &
(fog)oh(x) =4(x+4)* 1
5 Marks
o0 | (goh)(x)=2x+8 1
fo(goh)(x) =4(x+4)* 1
.. (fog)oh= fo(goh) verified d
90 =84x1+6 1
84=6x14+0 1
5 Marks
,, | HCF(90,84)=6 1
120=6x20+0 1
HCF(84,90,120) =6 )
n:I—Ta+1 (or) =376 4 :
n=14 ' 5 Marks
22 Snzg(a+l) (or) 814=%(6+97) .
S,, =721 ,
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XS, = X2+ XY+ X+ XY+ Xy’ + X XY+ XY Xy o, 1
YS, =Xy + Y2+ XY+ XY+ Y XY XY Ay Y 1
23| X8, -yS, = (X + X7+ X +..) = (Y Yy ) .| 5Marks
X(x"-1)  y'(y"-9)
X=Y)S, = -
( y) n |: ¥ —1 y—l 2
k(k +1) _ 395 .
2
5 Marks
24 P+22+3+........ +k3=(k(k+l)j .
2
1
= (325)° 5
=105625
(or)
f(4)=10 1
f(-2) =2
( ) L 5 Marks
f(1)-3f(4
f(-3)=1; -3t By, 4 2
f(-3)
SECTION-1V [ MARKS:10]
Each questions.carries 10 marks 2x5=10
Rough Diagram 1 Mark
Line Segment PQ, Circle 2 Marks
25
Median, Triangle 1 Mark
Altitude =3.5cm 1 Mark
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(OR)
Rough Diagram 1 Mark
25 | Line Segment PQ, Circle 2 Marks
Angle bisector 1 Mark
Triangle 1 Mark
First Table (any 5 points)
X|5|-4|-3|-2]-1|0)| 102 3| 4 1Mak
Yy | 80| -6|-10-12|-12|-10|] -6 | 0 | 8
26 1 Mark
X-axis , Y-axis and Scale 2 Marks
Draw parabola
solution set is {-4,3} 1 Mark
It has real and unequal roots
First Table ( any 5 points )
X -3 -2 -1 0 1 2 3
1 Mark
Y 5 0 -3 -4 -3 0 5
26 | X-axis, Y-axis and Scale 1 Mark
Draw parabola 1 Mark
Equation y=x+8
Second Table, Draw Straight Line 1 Mark
Solution Set = {-3,4} 1 Mark
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SHRI KRISHNA ACADEMY

# CREATIVE QUESTIONS ,MATERIALS(GUIDE), FULL TEST QUESTION PAPERS, ONE
MARK TEST QUESTION PAPER for X, XI, XII AVAILABLE in ALL SUBJECTS.

- For MORE DETAILS - 99695 31727 , 94432 31727

NAMP KKAL (DT)
.10"' '/ First Midterm Examination July - 2019-20

Time: 1.15hrs MATHE Maximum marks:50 '
Section —| 10X1=10

i)JAnswer all the 10 questions

n)o\munma-m&ommfmmmmmmmdmmw

the corresponding answer.

1.0 n{Ax8)=6 and A={1,3) then n(B)is
1)1 2)2 3)3 4) 6
2.Let n(A)=m and n(B)=n then the total number of non-empty relations that can be defined from A
to8 is
1)m" 2" 3)2™a 2™
3.0ff{x) =2x" and gl{x)=1/3x, then fogis
1)3/2¢ 202/3x  3)2/9x  a)/ex’
4.f(x)={x+1)" ~{x-1)’ represents a function which is
1) linear  2)cubic 3)reciprocal  4)quadratic
5.If the range of is a proper subset of the co-domain of { ,then a function is called
1) onto function  2) many to function
3) into function  4)none of these
6.The sum of the exponents of the prime factors in the prime factorization of 1729 is
1)1 22 3)3 4)4
7dn aG.P ity =1/5 and ty= 1/25 then the common ratio is
15 2125 3)1/5 4)1/25
8.Given Fy= 1, F=3 and F, = F. +F  then F6 Is
1)3 25 3)8 41
9.1 6 times of 6™ term of an A.P is equal to 7 times the 7™ term , then the 13™ term of the AP is
10 26 37 413
10. The next term of the sequence 3/16, 1/8 ,1/12, 1/18,,...... is
1)1/24 2)1/27 3)2/3 4)23

Section -1l 5X2=10
Note i)Answer 5 questions. :
ii)Question number 18 is compulsory.
ilf) Select any 4 questions from first 7 questions.

11,1 BxA =((-2,.3), (-2,4), (0,3) ,(0,4), (3.3), (3,4) } find A and B
12.A Relation R is given by the set {(xy)/y=x+3, x £{0,1,2,3,4,5}} , Determine its domain and range.
13.Represnt the function f ={(1,2),(2,2).(3,2).(4,3).(5.4)} through i) an arrow diagram
ii) a table form lil}a graph
14.Find k if fof(k)=5 where f{k) s2k-1
15.Define Euclid’s Division Lemma
16.Find the next three terms of the sequence 8,24,72,.......
17.Find the geometric progression whose first term Is -7 and common ratio is 6
18. Find the sum of 3+46+9+.....496 (or) compute x, suchthat 10°= X (mod19)
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- 2.
Section - I 4X5=20

Note: i)Answer 4 questions. g
il)Question number 24 js compulsory,
i) Select any 3 questions from first 5 questions.
19. Let A =(x ¢ W/ x<2}, B=={x £ N/1< x<2}, and C=(3,5). Verify that Ax(BUC) = (AxB)U(AxC)
20. Let f(x)= x*, g(x)=2x and h(x)=x+4, Show that (fog)oh = fo(goh)
21, Use Euclid’s Division Algorithm , find the HCF of 84,90,120

22. Find the sum of 6+13+20+... . +97

23, If s, =(x+y)+(x'+xy#y’)+(x’+x’y+xy2+y’)+....... N terms then prove that

X(%s-1) ¥(ya-1) |
(x-y)Sp= = E———
x-1 y-1

24.1f 1+2#3+.........k=3_25,then find 1%42%3%, K3 (or)

2X+7 x<-2
If the function of f:R-R is defined by f(x) ={ x%.2 +~25x<3 then find the values of
{3)(-2, x>3
)f{4) i)f-2) iii fl4)+2f(1) iv) f(1)-2f(4)
f(-3)
Section -|v 2X5=10

25. Constructa A PQR in which PQ=8cm . R=60° and the median RG from R to PQis 5.8cm.
Find the length of the altitude from Rto PQ. (or)

Construct a A PQR such that PQ=6.8¢cm, vertical angle is 50° and the bisector of the vertical
angle meets the base at D where PD=5.2¢m.

26. Discuss the nature of solutions of the quadratic equation x'-8x+16 using graph (or)
Draw the graph of y=x*-4 and hence solve x>-%-12 =0,
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